     Логарифмические уравнения
 Вариант 1 
1. [image: image2.png]log,(4x +5) =log,(9 — 2x)




2. [image: image4.png]log;(x* —5x—23)=0



 
3. [image: image6.png]lg(x +2) +1g(x — 2) = Ig(5x + 10)
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5. [image: image12.png]x1085% = 625
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3x—y=20



    
7. [image: image16.png]lg(5x —4) = 1g(1 —x)



  
8.  [image: image18.png]log:(x* +3x —9) = -2



        
9. 1 + [image: image20.png]log,(x + 1) =log,(7x +2) —log,(x — 1)



  
10. [image: image22.png]2log,%x +5log,x —



  
11.    [image: image24.png]xlogosx—1 = 1
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logz x + logz y = 2 + log; 2




Логарифмические уравнения

      Вариант 2
1. [image: image28.png]logs(3x —4) =logs(12 — 5x)




2. [image: image30.png]log;(x*+3x—-7)=1



 
3. [image: image32.png]lg(x — 1) +1g(x + 1) =1g(9x + 9)
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6. [image: image40.png]{logf,x+logf,y—2
X—y=—5



    
7. [image: image42.png]lg(3x —10) = 1g(7 — 2x)



  
8. [image: image44.png]logos(x* —4x+20)=-5



        
9. 1 + [image: image46.png]logs(x —2) = log;16 x —log; (x + 2)



  
10. [image: image48.png]3log:*x +5log:x —2 =10
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logy x+4



    
12. [image: image52.png]{1 3% (g)y =243
og, x +log, y = 3 +log, 3
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